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Fundamental Theorem of calculus – Part 2  
Evaluate each of the following integrals, if possible. If it is not possible clearly explain why it is not 

possible to evaluate the integral.  

1. 

 

2. 

 

3. 

 

4. 

 

 5. 

 

 

6. 

 

7. 

 

8. 

 

9. 

 

10. 

 

 

11. 

 

 

12. 

 

 

13. 

 

 

14. 

 

 

 

3250 

692  

− 12332  − 6645  

17 ln(2) + 320 (253) − 2780 

The third term will have a division by zero therefore, 

this integral cannot be done 

318 3 

5 cos (𝜋2) = 0 and 
𝜋2 is in the interval, therefore, this 

integral cannot be done 

14√3 + 2√3 − 16 
𝑒2 + 𝑡𝑎𝑛−1(2) − 1 

7(𝑒−2 − 𝑒−5) + 2(ln(2) − ln⁡(5)) 
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